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section 1.4

10) Determine If +he limit exists. Compute +he limit if it exists: gin‘? x3-1
-
L ()= (V-1 64-1
>

22) Determine 1f the limit exists. Compute the limit i¢ it exists: Zim 2x-10

X>5 X225
Lim 2%-10 (Tr\{ foplug. 25-10 _ 10-10 _ © Didnt work! )
=5 X*25 n (525 25-25 O Try something else! "
S Am2Axs o am 2| 2 :L:
X5 (1 &5(x+8) X2S X+5 T 5+5 |0 [ &
70) Find Limn -8X*+1
X200 X%
Lim 811 _ Qimn 82+ Yy _ Gimn 28+5G _=8+0 .
X200 y2, T X200 XI/X-"*VX." T X=00 ]+%L - 1+0 -
Section | .5

2) Is the function whose graph is below Continuouvs at +he following valve of a: a=-3

K

yes

e | e

| I | I 1 | | | 1
T T T T T T

-5 -4 -3 -2 -1 1 2 3 4 5

G) Is the function whose graph is below continuoos at +he following valve of a: x=2
y

no

—_

-5 -4 -3 -2 -1 1 2 3 4 5




16) Determine whether the following function is continuous and differentiable at x=1:
Fo0= § 308X
X, lexesn

2im £ = Lim ¥3= (N?=)
o X X Ditfeventiability not part of assignment
Zivn £00 = im X= 1
X1+ X+
fn =1
yes Continuous at+ x=| *

. 3x? , 0<X<¢l

$)= SL Clexer
am $'(0= fzum (x»=3
o) X1~

2imf'd=24m | =\

X3+ X+

not differentable ar x=\
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30) Use limits to compute £'(2), where F(X)=x2
£i(2)= Lim (2+h) £l ﬁlm (2+h)3 (*_ Lim L2+h)(z+mtz+m 8

h-0 hso ~ h=0o

- Lim (1+h)t‘l+'4h+h7-)—8 2:mx8/+8h+7.h L\h+uh1+h3,«r qu h3+6h™+\2h

h>0 h ~ hao h hso h
_mmh’(hwwlz) ﬂ.um h0bh-12 = (06 (0)* 12 = [12]
hao h-o

32) Use limits fo compute £'(0), where Fx)=x*+2x+2

p(o)= Lim £lO+h) - F(o)_i\m £ln) - F(o) ,le(h +2nt2) - (0+0t2) - lim h2h+Z-Z
h>0 h - h = hoo h

:'gm —L'K )7;2' :%'_:’r(h*'l) :

37 use limits to compoute FU0O ¢ FX)=3x+1 X
pi(xy= Lim EOnd-FOX) - ,0.|m Botnm)+1] - [x+11 Lim %3h+/3{x Lim 3X _ Lim 3=
~ hso h h " hso T hao ) "heo

4syvuse limits to compote £100: $(x0)= {x+1"
O ﬂnm (x+h) £ . ﬂ.lm Jx+h+2' 2 Lim ohe2 t-{x+2 | {xehe+ (32
" hao h Xth+2 '+ (X+2 |
- Lim Lx+h+2)-(x+2) - Lim )K+ht2’-X-,?.’ - dim Pt - Lim _ '
N20 p(fxener+ e ) N0 h(fTahezefxz) N0 MUxrhe2+{xx2) "0 ({aht2 + Y+ 7
) 1 I
T UXeL+lxa2 |22

(closswork problems gracled: Cw 2 #2 and Cw3 #1)



